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HX 39,967 86,547 41270 45277
RIRET1T 6 15 9 6
RIRET2T 27 55 26 29
AIEET3T 181 596 290 306
RIRET4T 401 973 484 489
B 615 1,639 809 830
REH 2,674 6,024 2,796 3,228
L&A 4,344 9,505 4,415 5,090
BE 2,619 5,939 2,875 3,064
B AN 1,296 2,834 1,337 1,497
BERT 1,363 1,957 940 1,017
BER2T 774 1,406 680 726
BERST 550 1,267 599 668
B 2,687 4,630 2,219 2411
BEXRE 273 656 321 335
= 2,227 5,064 2,403 2,661
hERE 637 1,426 658 768
e 2,484 5,147 2,488 2,659
25 L ET 2,333 5,104 2434 2,670
B &AL BT 76 155 64 91
HEFILET1T 569 1,212 572 640
HEFILET2T 616 1,292 604 688
HEZFILAT3T 647 1,483 735 748
g 1,908 4,142 1,975 2,167
B & it B Fr ET 680 1,573 765 808
BHEREBET1T 580 1,174 572 602
BHERERET2T 774 1,736 824 912
BHERERETST 774 1,594 723 871
BHERERET4T 519 967 458 509
HEKERETST 846 1,714 821 893
HEERET6T 895 1,946 946 1,000
BHERERET7T 876 1,839 909 930
HERERETST 70 212 103 109
£t| 5334 11,182 5,356 5,826
HEF R FET 1,972 4117 2013 2,104
S|EFET1T 626 1,581 789 792
S|EFET2T 775 1,760 830 930
S|EFET3 T 747 1,413 652 761
g 2,148 4,754 2271 2,483
ERE1T 586 1,341 644 697
EIRET2T 388 1,032 513 519
EREIST 513 1,336 652 684
EIRETAT 693 1,476 660 816
EIZEIST 546 1,124 577 547
g 2,726 6,309 3,046 3,263
ME A 2,895 6,294 2,996 3,298
J\THET1T 37 39 15 24
J\THET2T 25 57 28 29
J\THEI3T 53 112 50 62
B 115 208 93 115
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